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The Pacific and Gulf coasts of the United
States are home to many cities. In the East,
however, few cities between New York City and
Charleston, South Carolina, are actually located
on the coast. Most cities are found miles inland,
on a fall line that separates the highlands of the
interior from the plains that line the East Coast.
All along the fall line, rivers that begin in the
Appalachian Mountains rush through rapids and
over waterfails as they flow toward the sea.

The fall line marks the farthest point.inland
that boats on these rivers can reach. In early
times, settlers heading upriver stopped and built
towns in many of these places. Later, when
American industry developed, the first machines
were driven by water power. Places near rapids
and waterfalls were ideal locations for factories.
The jobs factories created caused towns on the
fall line to grow faster than those on the coast.
Water resources thus created most of the cities
that exist along the eastern seaboard today.

5. Which sentence from the passage best

restates the map’s information about eastern

" cities?

(1) The Pacific and Gulf coasts of the United
States are home to many cities.

(2) Most cities are found miles inland, on a
fall line separating the highlands of the
interior from the plains of the East
Coast..

(3) In early times, settiers heading upriver
stopped and built towns in many of these
places.

(4) Ali along the fall line, rivers that begin in *

the Appalachian Mountains rush through

rapids and over waterfalls as they flow
toward the sea.

(5) The jobs factories created caused towns
on the fall line to grow faster than those
on the coast.

Often a conclusion contains words like
consequently, thus, therefore, or as a result.
Look for such words to identify conclusions.
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6. What information about the eastern
seaboard is implied in the passage?

(1) Early settlers built roads across the
Appalachian Mountains.

(2) The region lacks sufficient water
resources to support a large population.

(3) Travel by land from the coast into the
interior was difficult in early times.

(4) Most industry developed elsewhere.

(5) No important cities developed there.

7.7 Which statement is the conclusion in the
second paragraph of the passage?

(1) The fall line marks the farthest point
inland boats on these rivers can reach.

(2) When American industry developed,
the first machines were driven by water
power.

(3) Places near rapids and waterfalls were
ideal locations for factories.

(4) The jobs factories created caused towns
on the fall line to grow faster than those
on the coast.

(5) Water resources created most of the
gities that exist along the eastern
seaboard today.
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